Answers - Worksheet L

b 3-10=17
=27
y=3

x= -10£+/100-52

a =(x-3)-9+11

=(x-3)Y+2
b VA
11
3,2)
0 X
2x\/§ +9=x\/§
xV3 =-9
9 B
=_x¥ =33
x= x 3

a 42x — 49 =9y’

a
2
_ —IOiz'm Ox? — 42x +49 =0
= ‘“’im Bx—7)*=0
= 5+23 x=1
b b 2+@p+)=2p(y+1)
\ { 2’ +y-3=0
—5-23 5423 Qy+3)y-1)=0
x<-5-2+/3 or x>-5+2.3 y=-3orl
p=x+3 a x =364 =4
sub. x=4"=16
2 2 14 B+l _ B+l _2B+3 _ (B+D2VB+3)
3% = 2x(x +3) + (x +3)*=17=0 L i D
¥ =4 = 1(6+33 +23 +3)
x=%2 :3_;_%\/5
wx=-2,y=lor x=2,y=5 .'.a=3,b=%
a letdbe(2,4) 10 a 2x<7
o AP = (k= 2) + (k- 4) x< 1
AP<3 . (k=2 +(k—4)<9 b 2xX*+x<1
5K —16k+11<0 2 +x—1<0

N~

b (5k—11)(k—1)<0 Q2x-D(x+1)<0
_[lvl. -
I<k<i 1 4 ~l<x<1
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11 fxx) = 2[x° — 4x] + 5 12 NI E]
a f(x)=2[x"— 4x] a =23 <
_ 2 _
=2[(x—2)*—4]+5 =243 - 33
=2(x—2* -3 =13
b (2,-3) Gaxix
16x
¢ 2(x-2P-3=0 =4x
x—2=i\/§
x=2% %x%
x=2i%\/€
13 no real roots 14 a AM=14C=2+243
. b*—4ac<0 BM? = AB* — AM?
4K — 4k +6) < 0 =@4+BY-2+2B)
-k-6<0 =16+83 +3-(4+8+3 +12)=3
(k+2)k-3)<0 273 . BM=+3
-2<k<3 b =1 xACxBM
=L x@4+43)x 3
=143 +12)=6+23
15 @) 7=2Y"? 16 LHS=x*2x*-3x-9)—x(2x*—3x-9)
4y+14=3y+9 +3(2x* = 3x-9)
y=-5 =2x* =37 — 9x® — 207 + 3x7 + 9x
+6x* — 9x — 27
=2x* - 5x° =27
sA=2,B=-5and C=-27
17 a X+4x+k=0

(x+2)—4+k=0
x+2=+/4—k
x=-2+-J4—k

b real roots only if 4 —k>0
s k<4

c k=-4

. x=—2i\/§

x==-2= 2\/5
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